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TTAALLEENNTT  SSEEAARRCCHH  EEXXAAMMIINNAATTIIOONN  22001188  
 

Date : 18-11-2018              Time: 45 Mintues                  Max. Marks  : 50   

MAT-101         CODE : SS                          STSE/18 

FOR STUDENTS OF CLASS XII SCIENCE GROUP 

INSTRUCTIONS / funsZ'k : 
1.  Answers are to be given on a separate answer sheet 

(OMR sheet) 

1.  mÙkj ,d vyx mÙkj i=kd (OMR 'khV) esa nsus gSaA 

2.  Please write your Roll Number as allotted to you in 

the admission card very clearly on the test booklet 

and darken the appropriate circles on the answer 

sheet as per instructions given. 

2.  d`i;k viuk jksy uEcj tSlk fd vkids izos'k i=k ij fn;k 

x;k gS] funZs'kkuqlkj VsLV iqfLrdk vkSj mÙkj&i=kd ij cgqr 

Li"V fyf[k;s vkSj fn;s x;s xksyksa dks dkyk djsaA 

3.  There are 50 question in this test. All are compulsory.  3.  bl ijh{kk esa 50 iz'u gSA lHkh iz'u vfuok;Z gSA  

4.  Please follow the instructions given on the answer 

sheet for marking the answers. 

4.  d`i;k mÙkj fpfUgr djus ds fy, mÙkj i=kd ij fn;s x;s 

funZs'kksa dks /;ku ls le> dj mudh vuqikyuk dhft,A 

5.  If you do not know the answer to any question, do not 

waste time on it and pass on the next one. Time 

permitting, you can come back to the questions, which 

you have left in the first instance and attempt them. 

5.  ;fn vki fdlh iz'u dk mÙkj ugha tkurs gSa] rks ml ij 

cgqr le; u xaokb;s vkSj vxys iz'u ij c<+ tkb;sA ;fn 

ckn esa le; feys rks ftu iz'uksa dks vkius igys NksM+ fn;k 

Fkk] mu ij okil vkdj muds mÙkj nhft,A 

6.  Since the time allotted for this question paper is very 

limited, you should make the best use of it by not 

spending too much time on any one question.  

6.  D;ksafd bl iz'u i=k ds fy, fu/kkZfjr le; cgqr lhfer gS] 

blfy, bldk vf/kdre mi;ksx dhft, vkSj fdlh iz'u ij 

cgqr le; u yxkb;sA 

7.  Rough work can be done on the given Blank Pages 

at the end of the booklet but not on the answer 

sheet/loose paper. 

7.  jQ dk;Z iqfLrdk ds var esa fn, x, fjDr i`"Bksa ij fd;k 

tk ldrk gS fdUrq mÙkj&i=kd@vyx dkxt ij ughaaA 

8.  Every correct answer will be awarded one mark. 

There will be no negative marking. 

8.  izR;sd lgh mÙkj dk ,d vad iznku fd;k tk,xkA blesa 

_.kkRed vadu ugha gksxkA 

9.  Please return the answer sheet (OMR sheet) only 

to the invigilator after the test. 

9.  d`i;k ijh{kk ds ckn dsoy mÙkj&i=kd (OMR 'khV) gh 

fujh{kd dks ykSVkb,A 

10. Hindi version of the question paper will be considered 

as final in case of any dispute arising out of variation 

in translated version. 

10. vuqokfnr fooj.k esa vUrj ls mBs fdlh Hkh fookn dh fLFkfr 

esa iz'u&i=k ds fgUnh fooj.k dks fu.kkZ;d ekuk tk,xkA 
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ckSf)d ;ksX;rk ijh{kk 

MENTAL ABILITY TEST 

bl iz'u&i=k eas dqy 50 iz'u gSA izR;sd iz'u ,d vad dk gSA 

THERE ARE 50 QUESTIONS IN THIS PAPER,  

EACH QUESTION CARRIES ONE MARK. 
 

1. fdlh fuf'pr rdZ ls 'INDIA' dks 95491 fy[kk tkrk gS] rks mlh rdZ ls 'DELHI' dks D;k fy[kk tk,xk \ 

In a certain logic 'INDIA' is written as 95491. Then from the same logic 'DELHI' will be written as 

what ? 
 (1) 45389  (2) 45489  (3) 45498  (4) 45398 

Sol. (1) 

  I   N   D   I    A   D    E    L    H    I 

    
 9 1+4  4   9   1   4     5   1+2  8   9 
 

2. fdlh fuf'pr rdZ ls 6.8 = 53 rFkk 5.7 = 40. rks mlh rdZ ls 6.9 dk D;k eku gksxk \ 

In a certain logic 6.8 = 53, and 5.7 = 40 then what is the value of 6.9 by applying same logic ? 

 (1) 59   (2) 61   (3) 62   (4) 63 

Sol. (1) 

 6 × 8 + 5 = 53 

 5 × 7 + 5 = 40 

 6 × 9 + 5 = 59 
 

3. vaxszth oxZekyk ds nk;sa fljs ls 18 osa v{kj ds nk;sa ls 10 oka v{kj D;k gksxk \ 

Which letter will be the tenth to the right of the eighteenth letter from the right end of the English 

Alphabet ? 

 (1) S   (2) T   (3) P   (4) Q 

Sol. (1) 

  Left   A B  C  D E  F  G  H  I  J K L M N O P Q R S T U V W X Y Z    Right 

                

           18      10 

4. v'kksd us mÙkj dh vksj pyuk vkjEHk fd;k 30 ehVj pyus ds ckn og vius ck;s eqM+k vkSj 40  ehVj pykA 

fQj og vius ck;s eqM+k vkSj 30 ehVj pykA og iqu% ck;sa eqM+k vkSj 50 ehVj pykA og vc viuh vkjfEHkd 

fLFkfr ls fdruk nwj gS \ 

 (1) 50 ehVj  (2) 40 ehVj  (3) 30 ehVj  (4) 10 ehVj 

Ashok started walking toward north. After walking 30 metres he turned left and walked 40 metres. 

He then turned left and walked 30 metres. He again turned left and walked 50 metres. How far was 

he from his original position ? 

 (1) 50 metre  (2) 40 metre  (3) 30 metre  (4) 10 metre 

Sol. (4) 

 

30 m

40 m

30 m

50 m
10 m
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5.  fuEufyf[kr J`a[kyk dk yqIr in Kkr dhft, % 

 Find the missing term in the following series : 

 Q1F, S2E, U6D, W21C . ? 

(1) Y66B  (2) Y88B  (3) Z88B  (4) Y44B 

Sol. (2) 

 Q1F, S2E, U6D, W21C,  Y88B 

  

 Q  S U W Y 

    +2    +2     +2     +2 

  

    1  2     6     21    88 

    ×1+1    ×2 +2     ×3 +3     ×4 +4 

    

    F  E  D  C B 

       –1    –1     –1     –1 

  

iz'u (6 – 9) / Questions (6 – 9) 

funsZ'k % iz'u 6 ls 9 rd izR;sd es ,d v{kj Js.kh nh xbZ gS ftlesa ,d in yqIr gS ftls fjä LFkkr ls iz'u 

fpUg ds lkFk n'kkZ;k x;k gSA yqIr in gsrw lgh fodYi Kkr dhft,A 

Direction : In such of the Question No. 6 to 9 a letter series is given in which a term is missing 

shown by a blank with  question mark. Obtain the right option for the missing term. 

6. BUL, CTJ, DSH, ?, FQD 

 (1) FAO   (2) ERF   (3) REF   (4) FBC 

Sol. (2) 

 

B    U    L,       C    T    J,       D    S    H,     E     R    F,      F     Q     D

–2 –2 –2 –2

+1 –1 +1 +1 +1–1 –1 –1  
 

7. BYCK, DWEV, FUGT, HSIR, ?  

 (1) JQAB  (2) JQKP  (3) SIKP  (4) QKEV 

Sol. (2) 

 

B    Y    C   X,      D      W   E   V,    F      U    G   T,    H     S    I    R,      J     Q     K    P

–2 –2 –2 –2+2 +2 +2 +2

+2 +2 +2 +2–2 –2 –2 –2

 
8. AAAB, AABC, ABCD, BCDE, ? 

 (1) AAAA  (2) ABCD  (3) CDEF  (4) ABCE 

Sol. (3) 

 AAAB, AABC, ABCD, BCDE,  CDEF 
 

9. RPB, TRE, VTH, XVK, ? 

 (1) XNZ   (2) ZVK   (3) ZXN   (4) NXZ 

Sol. (3) 

 

R    P    B,           T       R     E,        V       T    H,          X      V    K         Z       X     N

+2 +2

+3 +3 +3 +3

+2 +2 +2 +2 +2 +2  
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iz'u (10 – 12) / Questions (10 – 12) 

funsZ'k % iz'u 10 ls 12 ds izR;sd iz'u es izFke ,oa f}rh; iafä dk iSVuZ v/;;u dhft, vkSJ ;gh iSVuZ r`rh; 

iafä ij ykxw dj yqIr in Kkr dhft,A 

Direction : Study the pattern of first two rows in each of the Question Nos. 10 to 12 and apply 

same pattern on third row and find the missing term. 

 

10. 302 (39) 224 

 268 (29) 210 

 218 (?) 166 

 (1) 42   (2) 26   (3) 29   (4) 21 

Sol. (2) 

 302 – 224 = 78 ÷ 2 = 39 

 268 – 210 = 58 ÷ 2 = 29 

 218 –166 = 52 ÷ 2 = 26 

    

11. 234 (54) 321 

 345 (96) 242 

 456 (?) 341 

 (1) 45   (2) 60   (3) 120   (4) 72 

Sol. (3) 

 (2 + 3 + 4) × (3 + 2 +1) = 54 

 (3 + 4 + 5) × (2 + 4 +2) = 96 

 (4 + 5 + 6) × (3 + 4 +1) = 120 

   

12. 5 (16) 3 

 4 (12) 2 

 8 (?) 3 

(1) 25   (2) 30   (3) 55   (4) 45 

Sol. (3) 

 52 – 32   = 16 

 82 –32 = 55 
 

iz'u (13 - 16) / Question (13 - 16) 

 funsZ'k % iz'u 13 ls 16 izR;sd esa ,d vad Js.kh nh xbZ gS ftlesa ,d in yqIr gSA ftls fjDr LFkku iz'u fpUg 

ds lkFk n'kkZ;k x’;k gSA yqIr in gsrq lgh fodYi Kku dhft,A 
 Direction : In each of the question no. 13 to 16 a number series is given in which a term is missing 

shown by a blank with question mark. Obtain the right option for the missing term. 

13. 6, 24, ?, 120, 210, 336 

 (1) 60   (2) 65   (3) 70   (4) 72 

Sol. (1) 

     6,            24,        60,     120,         210,     336 

 23 –2       33 –3     43 –4     53 –5       63 –6     73 –7      

14. 4, 18, ?, 100, 180, 294, 448 

 (1) 32   (2) 36   (3) 40   (4) 48 

Sol. (4) 

    4,        18,        48,        100,           180,          294,        448 

 1 × 22 2 × 32 3 × 42      4 × 52           5 × 62            6 × 72         7 × 82 
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15. 2, 3, 5, 8, 16, ?, 53  

 (1) 29   (2) 32   (3) 46   (4) 27 

Sol. (1) 

 

2, 3, 5,  8,  16, , 53                               29       

+1 +2 +3 +8 +13 +24

+1 +1 +5 +5 +11  
 

16. 2, 3, 6, 18, ?, 1944 

 (1) 90   (2) 27   (3) 49   (4) 108 

Sol. (4) 

 2,   3,    6, 18, 108, 1944 

 2 × 3 = 6 

 3 × 6  = 18 

 6 × 18 = 108 
 

 funsZ'k% (17 - 20) / Question (17 - 20) 

 funsZ'k % fuEufyf[kr lwpuk dks if<+;s vkSj uhps fn, iz'u 17 ls 20 ds mÙkj nhft,A  

 P, Q, R ,S, T ,oa U fdlh ifjokj ds lnL; gSA ifjokj esa nks fookfgr tksM+s gSA Q ,d O;kikjh gS vkSj T dk 

firk gSaA  UR dk nknk gS vkSj v/;kid gSA  S, T dh nknh gS vkSj x`fg.kh gSA R, P dh iq=kh gSA ifjokj esa ,d 

v/;kid] ,d O;kikjh] ,d xqfg.kh] ,d vfHk;Urk vkSj nks fo”|kFkhZ gSA 

 Direction: Read the following information and answer Question Nos. 17 to 20 given below it:  

 P, Q, R ,S, T and U are members of a family. There are two married couple in the family. Q is a 

trader and is father of T.U. is grandfather of P. There are one teacher, one trader, one housewife, 

one enginer and two student in the family.  

Sol. (17 to 20) 
 

 

U
+

Q
+

T R

P Enginer–

S Housewife–
Teacher

Trader

Student Student
 

17. fuEufyf[kr es ls dkSuls nks tksM+s ifjokj esa fookfgr tksM+sa gSA  

 Which of the following two pairs are married couples in the family? 

 (1) US, QP  (2) US, RP  (3) US, QT  (4) TS. RS 

Sol. (1) 
 

18. fuEufyf[kr esa ls dkSulk P’ dk is'kk gS? 

 Which of the following is P’s profession? 

 (1) Housewife   (2) Engineer  (3) Student   (4) Trader 

Sol. (2) 
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19. P dk ifr dkSu gS? 

 Who is the husband of P? 

 (1) R   (2) U   (3) Q   (4) T 

Sol. (3) 
 

20. fuEu esa ls dkSu fuf'pr :i ls iq:"k lnL;ksa dk lewg gS?   

 Which of the following is definitely a group of male members? 

 (1) Q,U    (2) Q, U, T  (3) T, U   (4) Q, U, R 

Sol. (1) 

21.  ;fn fdlh dwV esa ‘PROVIDE’ dks ‘OSNWHED ds :i esa n'kkZ;k rks mlh dwV esa  MORNING dks n'kkZ;k 

tk;sxk  

 In a code ‘PROVIDE’ is denoted as OSNWHED the morning is denoted in the same code as 

 (1) LPQOHOF  (2) LPQOOHF  (3) LPOQHOF  (4) LOPOHOF 

Sol. (1) 

 

P     R    O    V    I     D      E                      O      S       N      W    H    E     D

–1

+1
–1

+1

–1

+1

–1  

 MORNING      LPQOHOF 

 

22. ;fn fdlh dwV esa ‘DESIRABILITY’ dks ‘ARISDYTIUB ds :i esa n'kkZ;k rks mlh dwV esa  PEREQUISITE 

dks n'kkZ;k tk;sxk  

 In a code ‘DESIRABILITY’ is denoted as ARISDYTIUB then PEREQUISITE  is denoted in the 

same code by 

 (1) QEREPRETISIU    (2) QERERPETISIU   

 (3) QERERPTEISIU    (4) QERERPETSIIU 

Sol. (Bonus) 
 

 iz'u (23 - 25 ) Question (23 - 25 ) 

 uhps S dFku fn;s tk jgs gSA ftuesa vdksa ds vFkZ ¼dksM½ 'kCnksa ds :i esa fn;s tk jgs gSA lHkh dFkuksa dk 

rqyukRed v/’;;u dhft, vkSj iz'u  23 ls 25 ds mÙkj nhft,A 

 (i) 1, 5, 9 dk vFkZ ‘;w’ csVj xks’ 

 (ii) 1, 6, 7 dk vFkZ csVj de fg;j’ 

 (iii) 5, 6, 7 dk vFkZ ‘;w’ de fg;j’ 

 (iv) 1, 5, 6 dk vFkZ ;w fg;j’ 

 (v) 3, 7, 9 dk vFkZ de ,.M fg;j’ 
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 Direction : There are five statements given below in which codes (meaning) of digits given in 

words. Study all the statements comparatively and give answers of Q. Nos 23 to 25 

 (i) 1, 5, 9 means you better go 

 (ii) 1, 6, 7 means better come here 

 (iii) 5, 6, 7 means you come here 

 (iv) 1, 5, 6 means better you here 

 (v) 3, 7, 9 means come and go 

Sol.               

 (i) 1, 5, 9 means you better go 

              

              5       1     9      

                 

 (ii) 1, 6, 7 means better come here 

               

               1       7        6      

 (iii) 5, 6, 7 means you come here 

              

              5       7        6      

  

 (v) 3, 7, 9 means come and go 

                            

                7      3     9      

 

23. ÞcSVj dks n'kkZus okys vad dks Kkr djus ds fy, mijksDr dFkuksa esa ls de ls de dkSu ls dFku vko';d gS \ 

 To get the digit which represents better at least which statements are required among them? 

 (1) (i),(ii)  (2) (iv),(v)   (3) (iii), (iv)  (4) (ii), (v) 

Sol. (1) 

24. Þ,.Mß ds fy, dkSu&lk vad dwy ds :i esa n'kkZ;k x;k gS \ 

 Which digit represents for the word 'and' as code? 

 (1) 6   (2) 9   (3) 3   (4) 7 

Sol. (3) 

25. Þxksß ds fy, dkSu&lk vad dwy ds :i esa n'kkZ;k x;k gS \ 

 Which digit represents as code for the word 'go'? 

 (1) 1   (2) 5   (3) 7   (4) 9 

Sol. (4) 
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26. fuEufyf[kr vad J`a[kyk esa ,sls fdrus 3 gS ftuds Bhd igys 6 gS ysfdu Bhd ckn 7 ugha \ 

 In the following number series how many 3's are there which are not followed by 7 but preceded 

by 6 ? 

 2 3 7 4 3 5 6 3 7 4 6 3 8 9 6 3 5 1 8 3 7 2 4 2 8 6 3 9  

 (1) 1   (2) 2   (3) 3   (4) 4 

Sol. (3) 

 2 3 7 4 3 5 6 3 7 4 6 3 8 9 6 3 5 1 8 3 7 2 4 2 8 6 3 9  

27. 4 ls 49 rd ,slh fdruh la[;k,¡ gSa tks 4 ls Hkkftr gSa vkSj muds vadksa dk ;ksx 9 gS\ 

 From 4 to 49, how many numbers are there which are divisible by 4 and sum of whose digits be 9 

? 

 (1) 1   (2) 2   (3) 3   (4) 4 

Sol. (1) 

 4, 8, 12, 16, 20, 24, 28, 32, 36, 40, 44, 48 

28. ,d Nk;kfp=k esa cus iq:"k dh vksj bZ'kkjk djrs gq, ,d efgyk us dgk Þmlds HkkbZ ds firk esjs nknk ds 

bdykSrs iq=k gSÞA QksVksxzkQ esa cus vkneh ls og efgyk fdl izdkj ls lEcfU/kr gS \ 

 (1) ekrk   (2) pkph   (3) cgu   (4) iq=khA 

 Pointing to a man in photograph a woman said, "His brother's father is the only son of my 

grandfather". How is the woman related to the man in the photograph ? 

 (1) Mother  (2) Aunt   (3) Sister  (4) Daughter. 

Sol. (3) 

 

x

w m  
 

 iz’'u (29 -33) / Questions (29 -33)  

 funZs’'k % ,d 24 lseh Hkqtk  pkys cM+s ?ku dks 4 lseh dh Hkqtk okys NksVs ?kuksa esa foHkkftr fd; tkrk gSA  cM+sa 

?ku dks foHkkftr djus ls igys bls gjsa jax jaxk tkrk gSA iz’'u la[;k 29 ls 33 ds mÙkj fnft,A   

 Direction : A big cube of side 24 cm is divided into small cubes of side 4 cm. Before 

dividing the big cube it is coloured in green color . Give the answer of Q. No 29 to 33. 

Sol. No. of divisions  n = 6 

29.  fdrus ,sls NksVs ?ku cusxsa ftudk dsoy ,d i`”"B jaxk gS\ 
 How many small cubes will be formed having only one face coloured ? 

 (1) 120   (2) 96   (3) 90   (4) 108 

Sol. (2) 

 One face colored (n –2)2 × 6 = (6 – 2)2 × 6 = 16 × 6 = 96 
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30. fdrus ,sls NksVs ?ku cusxsa ftuds dsoy nks i`”"B jaxs gS\ 
 How many small cubes will be formed having only two faces coloured?  

 (1) 12   (2) 36   (3) 24   (4) 48 

Sol. (4) 

 Two face colored (n –2)2 × 12 = (6 – 2) × 12 = 4 × 12 = 48 

 

31. fdrus ,sls NksVs ?ku cusx sa ftuds dsoy rhu i`”"B jaxs gS\ 

 How many small cubes will be formed having three faces coloured? 

 (1) 8   (2) 4   (3) 0   (4) 10 

Sol. (1) 

 Three face colored  only corners = 8 

 

32.  ,sls fdrus NksVs ?ku cusxsa ftuds dsoy pkj i`”"B jaxs gS\ 

 How many small cubes will be formed having four faces coloured? 

 (1) 6   (2) 4   (3) 0   (4) 8 

Sol. (3) 

 Four face colored  0 
 

33. ,sls fdrus NksVs ?ku cusxsa ftudk dksbZ i `”"B ugha jaxk gS\ 

 How many small cubes will be formed having no face coloured? 

 (1) 27   (2) 60   (3) 125   (4) 64 

Sol. (4) 

 No face colored  (n –2)3 = (6 – 2)3 = 43 = 64 

 

 iz’'u (34 -38) / Questions (34 -38) 

 fúunZsa’’'’k % fuEufyf[kr izR;sd iz’'u ds fuy, nks dFku I ,oa II fn;s x;s gSA vkidks ;g r; djuk gS fd bues ls 

izR;sd iz’'uksa ds fy, nksuksa es ls dkSu-lk dFku iz’'u dk mÙkj nsus ds fy, i;kZIr gSA izR;sd iz”'úu dk mÙkj 
fodYi la[;k ds :Ik es dhft,A 

 Direction : In each of the following questions two statements I and II are given. You have to decide 

which of the two statements are sufficient to answer each question.  

 Decide the answer of each question as option number. 
 

34. feuk dh d{kk esa dkSu&lh jSd gS\ 

 I   d{kk essa 26 fo|kFkhZ gSA 

 II feuk ls 9 fo|kfFkZ;ksa us de vad izkIr fd, gSA 

 (1) dsoy I dFku iz’'u dk mÙkj nsus ds fy, i;kZIr gSA 
 (2) dsoy II dFku iz’'u dk mÙkj nsus ds fy, i;kZIr gSA 
 (3) dsoy I  ,oa II  dFku iz’'u dk mÙkj nsus ds fy, i;kZIr gSA 
 (4) dsoy I  ,oa II  nksuksa iz’'u dk mÙkj nsu s ds fy, i;kZIr gSA 
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What is the rank of meena in the class ? 

 I. There are 26 students. 

 II. 9 students secured marks less than Meena. 

 (1) Only I statement is sufficient to answer the question. 

 (2) Only II statement is sufficient to answer the question. 

 (3) Both I and II statement are not sufficient to answer the question. 

 (4) Both I and II statement are sufficient to answer the question. 

Sol. (4) 

 

35. What is the distance between A and B? 

 aI.  Distance between A and B can be travelled by train.  

 II. Railway time-table gives the distance between any two places. 

 (1) Only I statement is sufficient to answer the question 

 (2) Only II statement is sufficient to answer the question 

 (3) Both I and II statement are not sufficient to answer the question 

 (4) Both I and II statement are sufficient to answer the question 

 A vkSj B ds chp dh nwjh D;k gS \ 

 aI.   A vkSj B ds chp dh nwjh dks jsy }kjk r; fd;k tk ldrk gSA 

 II. jsyos le; lkfj.kh nks LFkkuksa ds chp dh nwjh nsrhg gSA 

 (1) dsoy I dFku iz'u dk mÙkj nsus ds fy;s Ik;kZir gSA 

 (2) dsoy II dFku iz'u dk mÙkj nsus ds fy;s Ik;kZir gSA 

 (3) dFku I ,oa II nksuksa iz'u dk mÙkj nsus ds fy;s Ik;kZir ugh gSA 

 (4) dFku I ,oa II nksuksa iz'u dk mÙkj nsus ds fy;s Ik;kZir gSA 

Sol. (2) 

 
 

36. Mukesh and Suresh incomes are in the ratio of 4 : 3. 

 What is the income of Mukesh ? 

I.  Suresh's income is 75% of Mukesh's  

II. Suresh's income is Rs. 4,500 

 (1) Only I statement is sufficient to answer the question 

 (2) Only II statement is sufficient to answer the question 

 (3) Both I and II statement are not sufficient to answer the question 

 (4) Both I and II statement are sufficient to answer the question 
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 eqds'k vkSj lqjs'k dh vk;q 4 : 3  ds vuqikr esa gSA  

 eqds'k dh vk; D;k gS \ 

I.  lqjs'k  dh vk;q eqds'k dh vk; dh 75% gSA 

II. lqjs'k dh vk; 4,500 :- gSSA 

 (1) dsoy I dFku iz'u dk mÙkj nsus ds fy;s Ik;kZir gSA 

 (2) dsoy II dFku iz'u dk mÙkj nsus ds fy;s Ik;kZir gSA 

 (3) dFku I ,oa II nksuksa iz'u dk mÙkj nsus ds fy;s Ik;kZir ugh gSA 

 (4) dFku I ,oa II nksuksa iz'u dk mÙkj nsus ds fy;s Ik;kZir gSA 

Sol. (4) 

 

37. eksgu dh orZeku vk;q D;k gSA 

 I eksgu dk tUe flrEcj esa gqvk FkkA 

 II fgj'k flrEcj 1993 esa 22 o"kZ dk FkkA 

 (1) dsoy I dFku iz'u dk mrj nsus ds fy, i;kZIr gSA 

 (2) dsoy II dFku iz'u dk mrj nsus ds fy, i;kZIr gSA 

 (3) dsoy I ,oa II nksuksa iz'u dk mrj nsus ds fy, i;kZIr ugh gSA 

 (4) dsoy I ,oa II nksuksa iz'u dk mrj nsus ds fy, i;kZIr gSA 

 What is the present age of Mohan? 

 I  Mohan was born in September.  

 II  Harish was 22 years old in September 1993.  

 (1) Only I statement is sufficient to answer the question  

 (2) Only II statement is sufficient to answer the question  

 (3) Both I and II statements are not sufficient to answer the question.  

 (4) Both I and II statements are sufficient to answer the question.  

Sol. (3) 

 

38. D;k dksbZ cdjh pwgk ugha gSA 

  I lHkh xk;sa pwgk gSA  

  II dksbZ xk; fVM~Mk ugha gSA  

 (1) dsoy I dFku iz'u dk mrj nsus ds fy, i;kZIr gSA 

 (2) dsoy II dFku iz'u dk mrj nsus ds fy, i;kZIr gSA 

 (3) dFku I ,oa II nksuksa iz'u dk mrj nsus ds fy, i;kZIr ugh gSA 

 (4) dsoy I ,oa II nksuksa iz'u dk mrj nsus ds fy, Ik;kZIr gSA  

 Is no goat, rat? 

  I  All cows are rats. 

  II  No cow is grass hopper. 

 (1) Only I statement is sufficient to answer the question  

 (2) Only II statement is sufficient to answer the question  

 (3) Both I and II statements are not sufficient to answer the question.  

 (4) Both I and II statements are sufficient to answer the question.  
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Sol. (3) 

 

C
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R
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R

C
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Ikz'u (39 – 43) / Question (39 – 43)   

 funsZ'k : uhps fn;s x;s izR;sd iz'u esa nks dFku muds pkj fu"d"kksZ I, II, III vkSj IV ds lkFk fn;s tkrs gSA vkidks 

nksuksa dFkuksa dks lgh ekuuk gSA ;|fi ;s lkoZHkSfed Kkr rF;ksa ls fHkUu gksA ;g fuf'pr dhft, fd dkSu –&ls 

fn;s x;s fu"d"kZ rkfdZd :Ik esa fn;s x;s dFkuksa ls fudy jgs gSA rnuqlkj lgh fodYi dk p;u fdft,A  

 Direction : Each of the question given below comprises two statements followed by four 

conclusion numbered I, II, III and IV you have to assume both the statements the given 

conclusions can logically come up from the given statements. Select the option accordingly.  

39. dFku (Statements) :  dqN rsanq, pwgs gSA (Some panthers are rats) 

     dqN pwgs ikyrw i{kh gSA (Some rats are fowls) 

 fu"d"kZ (Conclusions) 

 I dqN pwgs rsnq, gSA (Some rats are panthers) 

 II dqN ikyrw i{kh pwgs gSA (Some fowls are tats)  

 III dqN ikyrw i{kh rsanq,s gSA (Some fowls are panthers) 

 IV dqN pwgs rsanq, vksj ikyrw i{kh nksuks gSA (Some rats are panthers and fowl both) 

 fodYi (Alternatives) 

 (1) lHkh (All)       (2) dsoy 1 (Only 1)  

 (3) I ,oa III (I and III)    (4) buesa ls dksbZ ughA (None of these) 

Sol. (3) 

 

R R
F

R

F

P
P R

F

 

 

40.  dFku (Statements) :  dqN isM+ dye gSA (Some trees are pens) 

   lHkh dye isfly gSA (All pens are pencils) 

 fu"d"kZ (Conclusions): 

 I  dqN isafly dye gSaA (Some pencils are pens) 

 II  dqN isM+ dye gSA (All trees are pens) 

 III  dqN isM+ isafly gSaA (Some trees are pencils) 

 IV  dqN isafly isM+ gSaA (Some pencils are trees) 

 Alternatives (fodYi): 

 (1)  and  ( ,oa )     (2)  and V ( rFkk V) 

 (3) Only V (dsoy V)     (4) None of these buesa ls dksbZ ugha 
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Sol. (4) 

 

T P
Pencils Pencils

T P

 

41. Statements :  All paper is bags 

    No bag is green 

 Conslusions : 

 I : No paper is green 

 I : some papers are green 

 III : Some green are papers 

 IV : some bags are papers 

 Alternatives (fodYi): 

 (1)  and  ( ,oa )     (2)  and  ( ,oa ) 

 (3)  and V ( ,oa V)     (4)  and  ( ,oa ) 

 dFku : lHkh dkxt csx gSA 

     dksbZ cSx gjk ugha gSA 

 fu"d"kZ : 

 I : dksbZ dkxt gjk ugha gSA 

 II : dqN dkxt gjs gSA 

 III : dqN gjs dkxt gSA 

 IV : dqN cSx dkxt gSA 

 Alternatives (fodYi): 

 (1)  and  ( ,oa )     (2)  and  ( ,oa ) 

 (3)  and V ( ,oa V)     (4)  and  ( ,oa ) 

Sol. (3) 

 

P
Bag

Green

 

42. (Statements) : All bananas are apples.  
 All apples are oranges.  
 I : Some oranges are apples.  
 II : All bananas are not apples.  
 III : Some bananas are not oranges.  
 IV : Some oranges are bananas.  
 (1) All    (2) I and IV   (3) I and III   (4) Only I  

 dFku : lHkh dsys lsc gSaA  
 lHkh lsc ukjaxh gSA  
 I : dqN ukjaxh lsc gSA  
 II : lHkh dsys lsc ugha gSaaA  
 III : dqN dsys ukjaxh ugha gSA  
 IV : dqN ukjaxh dsys gSaA  
 (1) lHkh   (2) I ,oa IV   (3) I ,oa III   (4) dsoy I  
Sol. (2) 
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B
A

or

 
 

 
43. Statements :  All cups are trees. 
   All trees are tigers.   
 I : All cups are tigers.  
 II : All tigers are cups.  
 III : All trees are cups.  
 IV : Some tigers are cups.  
 Alternatives :  
 (1) II and III  (2) I and IV   (3) All    (4) I and II   

 dFku :  lHkh I;kys isM+ gSaA  
  lHkh isM+ 'ksj gSaA  
 I : lHkh I;kys 'ksj gSaA  
 II : lHkh 'ksj I;kys gSaA  
 III : lHkh isM+ I;kys gSaA  
 IV : dqN 'ksj I;kys gSaA  
 fodYi :  

 (1) II ,oa III  (2) I ,oa IV   (3) lHkh   (4) I ,oa II  
Sol. (2)   

 

C
T

T

p

r

i

 

 
44. How many squares are there in the figure given below ?  

 uhps fn;s x;s fp=k esa fdrus oxZ gSa \  

                

 (1) 26   (2) 35   (3) 45   (4) 55  
Sol. (4)   
  

 
6

)1n2)(1n((n 
 

  

 
6

1165 
 = 55 

 
45. How many rectanges are there in the figure in Q.No. 44 except square ?  

 iz'u 44 esa fn;s x;s fp=k esa oxZ dks NksM+dj fdrus vk;r gSa \  
(1) 35   (2) 70   (3) 170    (4) 120  

Sol. (3) 

 
6

1165
–

2

65

2

65 



 = 170 
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 iz'u Questions (46 – 50) / Questions (46 – 50)  

 Direction : Six persons A, B, C, D, E and F are sitting in a circle each of them facing each other. B 
is sitting between A and C, E is sitting between F and D. F is sitting just in front of A and to the 
right of E.  

 funsZ'k : N% O;fDr A, B, C, D, E ,oa F ,d o`Ùk ij ,d nwljs dh vksj eq¡g djds cSBs gSaA B, A ,oa C ds chp 
cSBk gSA E, F vkSj D ds chp cSBk gSA F, Bhd A ds lkeus cSBk gS vkSj E ds nk;ha vksj cSBk gSA  

 

Sol. 

A B

C

FE

D

 
 
46. D is sitting between whom ?  

 D fduds chp cSBk gS ? 

 (1) E, F   (2) A, E   (3) A, B   (4) C, F  
Sol. (2) 
 
47. If the places of B and F are interchanged and that of C and D are also interchanged then A will be 

between whom ?  

 ;fn B vkSj F ds LFkku vny cny fn;s tk;sa mlh izdkj C ,oa D ds Hkh vny cny fn;s tk;s arks A fduds chp 
cSBk gksxk ?  

 (1) C, B   (2) E, D   (3) F, D   (4) F, C  
Sol. (4) 
 
48. Who is sitting left of D ?  

 D ds ck;ha vksj dkSu cSBk gqvk gS ?  

 (1) E    (2) F   (3) B   (4) A  
Sol. (4) 
 
49. Who is sitting second to the right of A ?  

 A ds nk;ha vksj ls nwljk O;fDr dkSu cSBk gS ?  

 (1) B    (2) E    (3) F   (4) C 
Sol. (2)  
 
50. Who is sitting third to the left of B ?  

 B ds ck;ha vksj rhljs LFkku ij dkSu cSBk gS ?  

 (1) C    (2) F   (3) E   (4) D  
 

Sol. (3) 
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